
場の量子論 p90check4.2

谷脇 貞善

2023年 8月 19日

1 ディラック方程式

1.1 γ 行列、N = 2

A =

(
a b
c d

)
, B =

(
e f
g h

)
(1)

tr(AB) = tr

(
ae+ bg af + bh
ce+ dg cf + dh

)
= ae+ bg + cf + dh (2)

tr(BA) = tr

(
ae+ cf be+ df
ag + ch bg + dh

)
= ae+ bg + cf + dh (3)

det(AB) = det

(
ae+ bg af + bh
ce+ dg cf + dh

)
(4)

= acef + bcfg + adeh+ bdgh− acef − bceh− adfg − bdgh (5)

= bcfg + adeh− bceh− adfg (6)

= det(A)det(B) (7)

1.2 本題

λk:γ
0 の固有値。vk:γ

0 の固有ベクトル (k = 1, 2, · · · , N)。

(γ0)2vk = λ2
kvk = evk = 1vk (8)

λk = ±1 (9)

N =
∑
k

1 =
∑

k:λk=1

1 +
∑

k:λk=−1

1 (10)

0 = tr(γ0) =
∑
k

λk =
∑

k:λk=1

1−
∑

k:λk=−1

1 (11)

N = 2
∑

k:λk=1

1 (12)
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